5,5,6 are three coplanar vectors. Find the vector
sum, d = 4i— j,b=-3i+2j,¢ =-3]

(a)V5,297°  (b)V5,63°  (c)V3,297°  (d)
V3, 63°

The resultant of two forces equal in magnitude is
equal to either of two vectors in magnitude. Find
the angle between the forces.
(a) 60° (b) 45°

(d) 120°

(c) 90°

A man goes 100 m North then 100 m East and

then 20 m North and then 100\/5 m South West.
Find the displacement.

(a) 20 m West (b) 20 m East

(c) 20 m North (d) 20 m South

If |A+B| = | A-B| then angle between the
vectors Aand B is
(a)o (b) /3 (c) /2 (d) n/4

A boat sails 2 km east, then 4km northeast and
then in an unknown direction. Final position of
the boat is 5 km east from starting point.
Unknown displacement is

(a) 2.8 km, 3°26' with north towards east

(b) 3km 2°26' with east
(c) 3.5 kin, 2°30' with south towards west

(d) 1.81cm, 2°36' with north towards east.

- - -
Two vectors a and b lie in one plane. Vector C
> > o

lies in different plane, then a +b +cC
(a) May be zero (b) Must be zero

(c) Must not be zero (d) All of above

are possible

— - -
If aand b are two unit vectors and R =
—
and also if |R| =R, then -
(aQ)R<O0 (b)R>2

must be 2

()0<R<2  (d) R

- - -

For the vectors a and b shown in figure,a = \/§

A -

i+ jand | b | =10 units while 8 = 239, then the
- -

valueof R=| a + b |isnearly—

y >
b

oy

10.

11.

12,

13.

14.

15.

16.

(a)12 (b)13 (c)14 (d)15

— - -
The resultant of two vectors P and Qis R. If the
-
magnitude of Q is doubled, the new resultant
-
becomes perpendicular to P, then the magnitude

5
of Ris -

P2-Q P+Q P
@) g b 5oy @a @G
The maximum and the minimum magnitudes of
the resultant of two given vectors are 17 unit and
7 unit respectively. If these two vectors are at
right angles to each other, the magnitude of their
resultant is -
(a) 14

(b)16 (c)18 (d)13

- - -
Vector R is the resultant of the vectors Aand B.
—
Ratio of minimum value of | R | and maximum
—
Iy 1
value of | R | is = . Then IA;lmay be —
|B]
2

(b) 2 (©) %

4
(@) 1 1

1
(d) 5

The unit vector parallel to the resultant of the
vectors

=l N ~ A e d N ~ ”
A=4i+3j+6k and B =-i+3j-8k is-

(a)%(3i+6]—2|2) (b)%(3i+6]+2|2)

1 o i) N 1 o i) ~
—@Bi+6j+2k d)—@Bi+6j-2k
(€) 5 @ +6j+2K) (d) 75 (31 +6]-2K)
What is the numerical value of the vector
3i+4j+5k?
(a)3v/2 (b)5v2

(c) 742 (d)9v/2

Given :A:i+2]—3f< . When a vector B is added to
A , we get a unit vector along X-axis. Then, B is—
(a)-2j+3k (b)-i-2]  (c)-i+3k  (d)
2j-3K

Given :R=A+B and R = A = B. The angle between
A and B is—

(a) 60° (b) 90° (c)120° (d)180°

A force vector applied on a mass is represented as
ﬁ=6i—8]+10R N and accelerates the mass at 1 m
s2. The mass of the body is—

(a)l0kg  (b)20kg (c) 24/10kg (d)

10+/2kg




17.

18.

19.

20.

21.

22.

23.

The vector 5i+2j—¢k is perpendicular to the
vector 3i+j+2k for /=

(@)1 (b) 4.7 (c)6.3 (d)
8.5

The vector which must be added to the sum of
the two vectors i+2j—k and i—2j+2k to get a
resultant of unit vector along z-axis is —

(@) 2i+] (b)—2i (©i+j+k  (d)
i—j-k

Given :A=i+2j-3k. When a vector B is added
to A, we get a unit vector along X-axis. Then, B
is-

(@)-2j+3k (b)-i-2] (c)-i+3k  (d)

2j-3k
A parallelogram has diagonals expressed as

A=5i-4j+3k and B-=3i+2j-k Area of
parallelogram is

(a)ﬁunits
(c)\/munits

(b)ﬁ units
(d)\/10_7 units

If & and @,are two non collinear unit vectors
and if | a1 +a2 |= /3, then the value of (a1 —a2)
. (2a1 +ay) is—

e

(a)2 w>§ ©F @1

The sum, difference and cross product of two
- —
vectors A and B are mutually perpendicular if :

- -
(a) A and B are perpendicular to each other and |
- —
Al=|B |

- —
(b) A and B are perpendicular to each other

- -
(c) A and B are perpendicular but their
magnitudes are arbitrary

- —
(d)| A | = | B | and their directions are arbitrary

d A ~ A g ~ A~ ~
If A=i+2j+2k and B=3i+6j+2k , then the
-
vector in the direction of A and having same

. - .
magnitude as |B|, is -

24,

25.

26.

27.

28.

29.

30.

(a)%(i+2j+2|2) (b)7(i+2]+2f<)

(c)%(?+2]+2f<) (d)g(i+2j+2|2)

The angle between two vectors (2?+3]+I2) and
(-3i +6K) is-

(a)0° (b) 45° (c) 60° (d)90°

If a vector (2i+3j+8Kk)is perpendicular to the

vector —4?+4]+<xl2 , then the value of o is-

1 -1
(a)-1 (b2 (c) — (d)1

-
A vector F; is along the positive x-axis. If its vector

- -
product with another vector F, is zero then F,
may be -
(a)4]

(b) (i +]) (C)(i+k)  (d)

—4i
Find out the unit vector perpendicular to both
vectors

i—j+kand i+j+k.

—-i+k

V2

@isi () (c)}+k (d%

A vector I5l is along the positive x-axis. If its vector

product with another vector P, is zero, then P,
could be-
(a) 4]

~(i+])

(b) - 4i (c) 3+ k) (d)

The adjacent sides of a parallelogram are
represented by co-initial vectors 2i +3jand i+4j.
The area of the parallelogram is—

(a) 5 units along z-axis (b) 5 units in x-y
plane

(c) 3 units in x-z plane (d) 3 units in y-z

plane

A vector A of magnitude 5J3 units, another

vector B of magnitude 10 units are inclined to
each other at an angle of 302. The magnitude of

the vector product of the two vectors is —
(a) 1 units (b) 5/3 units

(c)75 units (d) 25+/3 units




